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6HODPD� SURVHV� SHQHOLWLDQ� GDQ� SHQXOLVDQ� WXJDV� DNKLU� LQL�� SHQXOLV�

PHQGDSDWNDQ� GXNXQJDQ� GDQ� EDQWXDQ� GDUL� EHUEDJDL� EDQ\DN� SLKDN�� %DLN� EDQWXDQ�

VHFDUD� ODQJVXQJ� PDXSXQ� WLGDN� ODQJVXQJ�� 2OHK� NDUHQD� LWX� SHQXOLV� LQJLQ�

PHQJXFDSNDQ�WHULPDNDVLK�NHSDGD�

�� $OODK� 6:7�� NDUHQD� UDKPDW� GDQ� NDUXQLD�1\D� VHKLQJJD� SHQXOLV� GDSDW�

PHQ\HOHVDLNDQ�WXJDV�DNKLU�GHQJDQ�EDLN�

�� 0DPDK��3DSDK�GDQ�7HWHK WHUFLQWD \DQJ�VHODOX�PHPEHULNDQ�GXNXQJDQ��GRD�

GDQ�NDVLK�VD\DQJ�\DQJ�WLDGD�KHQWL�

�� 7U\� $QGD\DQL VHEDJDL� SHQ\HPDQJDW� VHNDOLJXV� VHVHRUDQJ� \DQJ� LVWLPHZD�

\DQJ VHODOX�PHPEHULNDQ� GR¶D� GDQ� VHPDQJDWQ\D� VHODPD� SHQJHUMDDQ� WXJDV�

DNKLU�

�� %DSDN�+HQGL� $QZDU��0�7� GDQ� ,EX� 6DQWL� 6DOD\DQWL�0�6Q�� VHEDJDL� GRVHQ�

SHPELPELQJ� \DQJ� VHODOX� PHPEHULNDQ� PDVXNDQ� GDQ� ELPELQJDQ� VHODPD�

SHQJHUMDDQ�WXJDV�DNKLU

�� ,EX�'HD�$XOLD��%DSDN�'RGG\�)ULHVW\D�GDQ� ,EX�7LWLKDQ�6DULKDQWL�� VHEDJDL�

GRVHQ� SHQJXML� \DQJ� WHODK� PHPEHULNDQ� PDVXNDQ� NULWLN� GDQ� VDUDQ XQWXN�

WXJDV�DNKLU�LQL�

�� %DSDN�,UZDQ�GDQ�,EX�5L]ND��VHEDJDL�GRVHQ�ZDOL�\DQJ�PHPEHULNDQ�QDVLKDW�

GDQ�DUDKDQ�GDUL�DZDO�PDVXN�SHUNXOLDKDQ�KLQJJD�VD\D�GDSDW�PHQ\HOHVDLNDQ�

NXOLDK�LQL�

�� 'RVHQ�GRVHQ� 'HVDLQ� ,QWHULRU�� VWDI� SHQJDMDU�� GRVHQ� /%� VHUWD� NDU\DZDQ

8QLYHUVLWDV 7HONRP� \DQJ� WHODK� PHPEHULNDQ� LOPX� \DQJ� EHUPDQIDDW� GDQ�

,QV\D$OODK�GDSDW�SHQXOLV�DPDONDQ�

�� 7HPDQ�WHPDQ�',� ± ���� ���� �� GDQ� VHOXUXK� WHPDQ�WHPDQ�'HVDLQ� ,QWHULRU�

8QLYHUVLWDV� 7HONRP \DQJ� WHODK� PHPEHULNDQ� SHQJDODPDQ� VXND� GDQ� GXND�

VHODPD�SHQXOLV�PHQMDODQL�NXOLDK�GL�8QLYHUVLWDV�7HONRP�

�� 7HULPDNDVLK� NHSDGD� 5L]N\� 5RELDQD� <DVLQ�� )DFKUXO� 5L]D�� ,PDP� %XKRUL��

$JXQJ�1DXIDO��1DXILO�$GOL��5DPGKRQL��.ULVQR��GOO�


